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Q1. The place value grids below show three possible ways, to work out 97.36 x 10

Method (a) Method (b)
H|T|Uet |h|th H|T|Uet |h|th
917316 ) 10 9| 7e3]6
91 7/0e3|6 9| 73|60

Method (c)

H|{T|Uet |h|th

)xl() 271316 )xlO

917|366

(i) Use your calculator to work out the correct answer for 97.36 x 10

(ii) Circle the correct method

Q (a) Guess (no calculator) (b) Use a calculator (c) Save for teacher
2 H|T|Uet | h|th H| T | Uet | h|th
2 411 2 411
7 e )xlO K ) >><10 2 Te4d 1
[ ] o

Turn over for more questions

Q1. The place value grids below show three possible ways, to work out 97.36 x 10

Method (a) Method (b)
H|T|Uet |h|th H|{T|Uet |h]|th
9| 7e3|6 9|1 7e3|6

) x 10
917]0e3]6 9173|160

Method (c)

H|{T|Uet |h]|th

97436
>><10 >><10

917 |36

(i) Use your calculator to work out the correct answer for 97.36 x 10

(ii) Circle the correct method

Q (a) Guess (no calculator) (b) Use a calculator (c) Save for teacher
2 H| T |Uet | h|th H| T | Uet | h|th
21 7e4 |1 >><10 2|1 7e4]1 >><10 2 Te4d 1
[} [ ]

Turn over for more questions
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Q | (a) Guess (no calculator) (b) Use a calculator (c) Save for teacher
3 H|T|Uet | h]|th H|T|Uet|h]|th
419e3 )xlO 419e3 >><10 4 9e3
[ ] [ ]
4 H|{T|Uet |h|th H|T|Uet|h]|th
2 2
6| 3e 8 )Xl() 6| 3e 8 >><10 6 32 8
[ ] [ ]
5 H|T|Uet | h]|th H|T|Uet|h]|th
4 4
5]8e >><10 D] 8e >><1() 5 8e4
[ ] [ ]
Q | (a) Guess (no calculator) (b) Use a calculator (c) Save for teacher
3 H|T|Uet | h]|th H|{T|Uet |h|th
4 4
9e3 )xlO 9e3 >><10 4 93
[ ] [ ]
4 H|T|Uet | h]|th H|T|Uet|h]|th
6| 3628 >><10 6| 3628 )xl() 6 3e2 8
[ ] [ ]
5 H|{T|Uet |h|th H|T|Uet|h]|th
4 4
O] 8e )xl() O| 8e )xl() 5 Be4
[ ] [ ]
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